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@author zgc * */ public class dynamicsolvetrianglepath { private
string[][] str_triangle = null . private node[][] triangle_nodes = null .
private list nodes. private list paths. // I [0 static class node { private
int value. private list path = new vector(). public list getpath() {



return path. } public void setpath(list p) { path = p. } // n=(0,0) or
(0,1) or (2,2) public void addpath(string n) { path.add(n). } public
void addpath(list pa) { path.addall(pa). } public int getvalue() {
return value. } public void setvalue( int value) { this .value = value. } }
public dynamicsolvetrianglepath() { initnodes(). findpath(). } // O
Jodod,00000o0o0odgododag private void
initnodes(){ this.str_triangle = readtriangle.gettriangle().
triangle_nodes = new node[str_triangle.length][]. nodes = new
vector(). for(inti=0.1}else{// 00 OO0 00000 node
nodel =triangle _nodes[i-1][j-1]. node node2 =
triangle_nodes[i-1][j]. node bigger = max(nodel,node2). list ph =
bigger.getpath(). n.addpath(ph). n.addpath(currentpath). int val =
bigger.getvalue() c(str_triangle[i][j]). n.setvalue(val). }

triangle _nodes[i][j] = n. n =null. }//end of for j }//end of for i }
private node max(node nodel,node node2){ intil =
nodel.getvalue(). int i2 = node2.getvalue(). return
11>127nodel:node2. } private int c(string s){ return
Integer.parseint(s.trim()). }//0 0O O O O O private void
findpath(){ if(this.triangle_nodes==null)return. int max = 0. int mi
=0.intmj=0.for(inti=0.imax){max=t. mi=i.mj=J.}}}
system.out.printin(max path: triangle_nodes[mi][mj].getpath()).
system.out.printin(max value: max). } public static void
main(string[] args)throws exception{ dynamicsolvetrianglepath dsp
= new dynamicsolvetrianglepath(). }} 0 000000 OO0 O
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@author zqc * */ public class readtriangle { public static string
triangle_file =c:/java/triangle.txt . public static string[][] gettriangle()
{ string[][] rtn. try{ file f =new file(readtriangle.triangle_file).
bufferedreader br=new bufferedreader(new filereader(f)). list | =new
vector(). string line =br.readline(). while (line '=null ) {
l.add(line.trim()). line=Dbr.readline(). } int heigth=L.size(). rtn =new
string[heigth][]. for (int1=0.i0J O O O O O : max path:[(0,0),
(1,0), (2,0), (3,1),(4,1), (5,2)] maxvaluel30 L O DO oo
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